/_‘A/:T,A 6 ﬁ; /f%i ::,'A‘j:Eé N2/,
LW B S RT=P S
1 BRARBEERRE(T6—1) —BH (ER2T4ERE)
A E R E R E
g | BDE | B | BAR AR MR BAT| BRAD | BRAL | misx
R 5 |sgEn | zpag | B0 ® BPE | R K| Hof | ELO [ S0B | ZRE | KEE
%) | EMH | ) |pEK| (0 |BoT| B |brE|EcH| X
>-F
BERBLH| 131,343 5,599| 1,767 43 757 135/ 682  90.1 38 5 -| 639 33 42
ZaRm 69,900 2,430 994 35 175 7.2 148 84.6 8 1 - 139 - 27
WiBH 23,763 1,598 397 6.7 408 255| 372 912 10 3 -| 359 33 3
+ i T 37,680 1,571 376 4.2 174 1141 162  93.1 20 1 -l 14 - 12
BENAREERRR(T6—1—1)—(5B) (ER275EE)
B E R ERER
=i ZRE | TRR | ZRR | BRZ| B BAT| BAD | BALL | mmk
R 7 | HNEREH | 2REH E = ZRE|R ¥ || B | SN0E | ZEE | REBE
%) | B | % |pEH| (W |BoT| B |bou|HTH| X
>f-&
BERNHLE| 61,686 2,032| 574 3.3 312| 154 271 86.9 16 2 -| 253 15 26
ZBRM| 33,093 844| 307 2.6 61 7.2 47 77.0 4 - - 43 - 14
R 10,980 645 141 5.9 165| 25.6| 147 89.1 4 1 - 142 15 3
+ ik 17,613 543| 126 3.1 86| 15.8 77 89.5 8 1 - 68 - 9
BENAREERBRR(T6—1—2) — (%K) (ER275EE)
A E R ERE
g | ZPE | BMR | MR WRZ) MR BAT| BRAD | BRAL | migk
R 2 | XNEgEH | 2REH e i 3 ZRE|R B |bof- | BV | SN0E | ZRE | RIEE
%) | B | ) |pE%| 0 |BoT| B |brE|EcH| X
o>-F
ERNBHK| 69,657 3,567| 1,193 5.1 445 125 411 92.4 22 3 -| 386 18 16
Z2AaRM| 36,807 1,586 687 4.3 114 7.2| 101 88.6 4 1 - 96 - 13
RR™ 12,783 953| 256 75 243| 255 225 92.6 6 2 -l 217 18 -
+ i T 20,067 1,028 250 5.1 88 8.6 85| 96.6 12 - - 73 - 3
2 ABHAKREEBRR(T6—2)— (B%) (EpL275EE)
wE R E BE
ZPE | EfR | BN | AR%| BB RAT | BRALL | gk
R 5 | sgEm | 2pan | Do ® ERE | R % | bof: | OB | RDE | RIBE
%) | =& | %) |BEZ| (0 |BH¥| = |HchH| H
o>-&
BERBLH| 131,343 9,753| 3,091 7.4 609 6.2| 463 76.0| 144 13| 306 30| 116
ZAR™M| 69,900 4,217| 1,700 6.0 236 56| 159 674 53 5 101 - 77
WiBH 23,763 2,672| 690 11.2 184 69| 151 82.1 46 4 101 30 3
ol 35 ] 37,680 2,864 701 7.6 189 6.6 153 81.0 45 4 104 - 36
KENABREEMKR(T6—2—1)—(B) (ER274EE)
B e R EER
ais SPE | ERR | EZRAR | BRZ | BR BAT | BALL | =k
R 7 | HNEREH | ZREH E = SEE (R B | Hol-|S0E | Z2E | RIBE
%) | EM | % |pE%| W |BoT| B |Bch|
>f=-%
ENEB| 61,686 3,445| 1,149 5.6 276 80| 211 76.4 42 6] 163 14 51
ZARM| 33,093 1,406 589 4.2 102 7.3 67 65.7 14 2 51 - 35
WR ™ 10,980 1,052| 289 9.6 81 7.7 66 81.5 11 1 54 14 1
+ ik T 17,613 987| 271 5.6 93 9.4 78| 839 17 3 58 - 15
KENABREEBRR(T6—2—2)— (X (ERE274E )
mE R E KR
SpE | Bk | ESR | BR2| BB BAT| BRALL migx
R 5 | sgan | 2pEn | Bo ® EBE | R % | Hot: | OB | RDE | RIDE
(%) EB | (%) |BEE| (»w |BHT| H |BETH
>f-F
BERBLH| 69,657 6,308 1,942 9.1 333 53| 252 75.7| 102 71 143 16 65
ZAaR™M| 36,807 2,811] 1,111 7.6 134 48 92| 68.7 39 3 50 - 42
BiBH 12,783 1,620 401 12.7 103 6.4 85| 825 35 3 47 16 2
+ i 20,067 1,877| 430 9.4 96 5.1 75 78.1 28 1 46 - 21 -




3 MiAABREEERS (T6—3) — (BE)

<BIMIVHRERE > (ERi274E )
B E R EE R
&8 SZRE | ERR | ZRR | AR | BB BAT| BAD | AL | Bk
R £ | HREM | ZRER | 55 = EUE (R % | ok | BLO | S0B | BDE | KiLE
X1 (%) E8 | (%) |BEHZ| W |@»T| B |H3E|ETH| E
~>-&
=R 131,343  24,693] 23672 18.8 953 39 819 859| 277 35 16] 491 1 133
ZaBm| 69900 15774|15774] 226 590 37| 478 81.0] 145 22 8| 303 - 112
WmBH 23,763 1,716 695 7.2 116 6.8/ 108 93.1 27 - - 81 - 8
+ i 37,680 7,203 7,203 19.1 247 34| 233 943] 105 13 gl 107 1 13
X1 BRMARZRELZHETZELEEZSD
<BMIvIRABRBRERVERMADE > (274 E)
B E R E R R
=18 RZRE | ERR | ERR | BRZ2| BB BAT| BAD | AL | Bk
R 5 | dEH | FREH o EH b3 ZUE| R B | Ho-| RO | SH0E | ZReE | KRIEE
X2 (%) X3 | (%) |BES| (%) |[BHT| B |HoE|HTH| E
oY=t}
SEREH 1,161 240| 240 20.7 1 0.4 1 100 - - - 1 - -
Z2ARRT 1,032 161] 161 15.6 1 0.6 1 100 - - - 1 - -
HET 32 32 17| 100.0 - - - - - - - - - -
ol 3 71 97 47| 62 48.5 - - - - - - - - - -
X2 MBIvIRABERERUVBEHARZSRESZE (Bi8)
X3 BREMZICIIERREEN
AAREZEERR(T6—3—1)—(5B)
<BIIT YY) RERE > (ERE274EE)
B E R BE R R
=8 ZRE | ERR | ZRR | BfR%2| R BAT | BAD | DAL | ik
R 5 | HREH | FREH e =3 ZRE | R B | Hof-| RO (| NDOE | ZR2 FiLiE
X1 (%) =8 | (%) |BEHZ| (W |BoTF| B |HeE|Bch|
>F=%
BB 61,686 9,607/ 9,153 15.6 418 44| 358 85.6] 102 19 8| 229 1 59
ZaBMH| 33,093 6,269/ 6,269 18.9 247 39 201 81.4 55 10 a4l 132 - 46
BRH 10,980 718 264 6.5 67 9.3 63 94.0 16 - - 47 - 4
+ g 17,613 2,620[ 2,620 14.9 104 4.0 94] 904 31 9 4 50 1 9
X1 BERARZREZHETZELELEZSD
<BIEIvIRBBRBERUERMAAE > (ERi274E )
FE E R T & B
=8 RUE | B | ZRBR | BR2| Bk BAT | BAD | BALL | ik
R 5 | dREH | 2REH o EH s ZRE| R B | Hof-| RO (| HNOE | ZR2 FRinE
X2 (%) %3 | (%) |ZEH| (%) |[BHT| &5 |hoE|sch|
>f=-%&
sERELEH 1,021 203| 188 19.9 1 0.5 1 100 - - - 1 - -
E2=,01] 913 130 130 14.2 1 0.8 1 100 - - - 1 - -
R ™ 30 30 15/ 100.0 - - - - - - - - - -
+ ik 78 43] 43 55.1 - - - — — - - - - —
X2 MPIvIRABRERUVBEHARSRESZE (BiB)
%3 BRMARZICIIERRESEN
mAAREERRRE(T6—3—2) — (ZK)
<BHBIVIRBRE> CER2745E)
BT R ERE R
=8 ZEE | ERER | ZRER | BR%2| BK BAT| BAD | BALL| Bk
R 5 | HdREH | 22EH E b3 ZRE| R B | Ho-| RO (OB | Z2 FRinE
X1 (%) =8 | (%) |BEHZ| (%) |BHF| B |HeE|BEch| E
>f=-%&
ERLH 69,657 15,086 14,519 21.7 535 35 461 86.2 175 16 8 262 - 74
ZARM| 36,807 9,505/ 9,505 25.8 343 36| 277 80.8 90 12 al  1n - 66
BRH 12,783 008 431 7.8 49 4.9 45 91.8 11 - - 34 - 4
+ i 20,067 4,583] 4,583 22.8 143 3.1 139 97.2 74 4 4 57 - 4
X1 BRARZREZHETRELLEZSD
<BBIvIRBRERUVERMARZ > (CER274ERE)
BT R ERE R
i3 ZUE | B | ZBR | BR%2| K RAT| BAD | AL | Bk
X & | HREH | REEH aE EH¥ i3 DR (R B | b | RO | NOEB|22E | REE
X2 (%) %3 | (%) |ZEH| (%) |[BHT| B |HoE|BTH| E
>F=%&
ERELEH 140 37| 52 26.4 - - - - - - - - - -
ZBBH 119 31 31 26.1 - - - - - - - - - -
BB H 2 2 2] 100.0 - - - - - - - - - -
+ i 19 4] 19 21.1 - - - - - - - - -

X2 Hﬂ‘BIJOZﬁEE&UﬂgﬁﬂHﬂ?ﬁﬁﬁ?“%(ﬁ#%)
X3 BRMRZICLIERREER




4 FEENARBEERSR(T6—4)

(CER2TEEE)
ZEEH B ERERKR
BUE | BNR | ENG | ARE | A8 s | TAEY| mas
. : =]
R 4 |sesEx| o WIERE | 2&Es % SpE | B % | BAT |CINSRIZ| oo | oiviw |BERR| |\ppz | ON¥E | 22 | xinE

span| B8 |2nEu|SEN| oo | =% | o0 |pEm| o0 | 2oy | C2- NS0 otk | Bork | TR |&xigk | BORE| Ty

E =& & THo1=
#E e =
BRI 91,306 5,860 1,706 4,756 17 11.6 78 1.3 63 80.8 9 1 5 4 11 - 17 16 8 7
ZABRT 48,532 2,784 1,037 2,482 1 10.8 40 1.4 31 715 3 - 4 3 5 - 12 3 6
WR™ 16,784 1,279 303 962 16 133 15 1.2 10 66.7 1 1 1 - 3 - 4 5 -
T ik th 25,990 1,797 366 1,312 - 12.0 23 1.3 22 95.7 5 - - 1 3 - 1 12 - 1

XKZLR= ( [MMEEOZDER + TYREEOZRER] — MMEERVCYUHEEICKIT 5 2 FEiZ2ER ) + ILUHEEOXNFER X100

5 AMNABRBERRR(T6—5)
<TUERGTSV148AAFRK> (274 E)

B & B & & &
S SRR | 24N | RUR | ERR | ENR | BRZ | B8 ik
WETE |WeEN| RREY B8 |pEy EREN ® gpE | R % | mac | BAD | SAUA seE | sinE
ME %) | % | % |BER| % | BoF |5oF| Lrx |porzm| B
ERBHK 69,657 6,042 1,530 4,861 56 15.6 507 8.4 469 925 281 14 1 173 4 34
Z2aRM 36,807 3,113 891 2,407 - 15.0 323 10.4 294 91.0 168 9 1 116 2 27
IR 12,783 1,275 2217 907 17 16.9 82 6.4 80 97.6 56 4 - 20 2 -
T ik th 20,067 1,654 412 1,547 39 15.8 102 6.2 95 93.1 57 1 - 37 - 7
<RUETZT74DH> (ER274E)
" e B & R R
SEE B |2l | BUE | BER | BER | BR2 | B5) sk
HHTE |HeEN BBEYN BE |2LEN|IBEY % 20| R ¥ | faT gf(g e | BRE | KiLiE
#E %) | EB® | % |BES| % | BOT |BNE| pox |porm| H
ERBR - - - - - - - - - - - - - - - -
RN - - - - - - - - - - - - - - - -
BB - - - - - - - - - - - - - - - -
+ i - - - - - - - - - - - - - - - -

KELR= ( [MMEEOZDER + TYREEOZRER] — MMEERVUHEEICKIT 5 2 FEiEZ2ER ) + [LUHEEOXNFER X100




6 HEAKSE-

BHBEREEBENKT(T6—6)

w A K B B B
Z ¥
= w R — = mEx | e | 20T
40%% | 50%% | 60%%E | 70&k | 40%% | 50&% | 60&% | 70%% i 3 i
BERLH 722 66 57 63 11 166 197 144 18 576 49 97
ZARR™ 300 21 17 25 2 82 84 68 1 243 12 45
IR ™ 232 23 22 23 - 56 1 36 1 182 17 33
T 190 22 18 15 9 28 42 40 16 151 20 19
FHEE®R P
B & |22E% = B .
(%) minE fEE RERBHT
BEREH 115 16 22 77
ZAR™ 115 16 22 77
iR - - - -
T g™ - - - -
7 FRVMIVAREZERRR <STB#®RE> (T6—7)
(ER274EE)
mB®E CEIFRDER BEFRDER
CH! FF# BEIRF % RBRETREMEA B E
o WNRER | SLEY SUE |ZLES X wed | uze| iR B5 1% B
(%) (%) 3 (%) (%)
EARLHK 2,688 313 11.6 309 115 - - - - 1 0.3
ZARR™ 1,485 152 10.2 152| 102 - - - - 1 0.7
RE™ 437 93 21.3 91| 208 - - - - - -
ol 3 7) 766 68 8.9 66 8.6 - - - - - -
FROINABREERERE<TENEEZ > (T6—7—1)
-l ZRaY: £ CRIFF#DFER BEIFF K DFER
CEUFT % |BRUFF % BT R AL
g O BRR& mak| . |mew
EpER | 2REY| ¥ # 5
BREY (ZEEY HED | HED 11 (%) (%)
A1 ~A44ER 4 4 - - - - - -
45~498% 118 117 - - - - - -
50~545% 130 129 - 1 1 0.8 - -
55~598% 162 158 - - - - - -
60~64%E 156 152 - - - - 1 0.7
65~698 293 290 - - - - 4 14
70 L £ 145 145 - - - - 1 0.7
B 1,008 995 - 1 1 0.1 6 0.6




8 REEFIR3Z(T-fRARAREE - RAEHIE(T6—8)

CERL2TEERE)
REFIRIZTEH 8 B #H % o = B K &R
R 4 i 5 J= & BE 8 3%
408~ [15mL\L BAfE (EAB| & I £ | BEEEE | # R & RSB FHERE | TEORE m OB Al
TAR: E1% BE# |EAR| B |ZEAR| B (EAR EH (EAR| B BAR| B [EAR| EH [EAR
BERBEH 80 -| 233 1,483 - - - - - - 3 13 2 37 - - 12 26
ZABR™H 0 - 109| 1,044 - - - - - - - - - - - - - -
B iR 40 -| 43| 183 - - - - - - - - - - - -| 12| 26
+ ik 40 - 81 256 - - - - - - 3 13 2 37 - - - -
& B2 O =R R
K 4 ﬂ%’%ﬁﬁ*ﬁ%ﬁ HEedlE D ERER R
B EANE Bl [EEAS
BRBH 216 1,407 - _
£4aBH 109 1,044 - -
- ] 31 157 - _
T ik 76 206 — -

o EA-EHAREHE(T6—9)

CERR2T4ERE)
BEBRRERESHET OXKERKR
B S| & |y RER
(EAE) =MmE prrped PERR| B 1E
ERNELH 12 - - - 12
Z2AHRRM 12 - - - 12
Br ;B - = - - -
+ i = - - - -
CERL2TEEE)
£ H # FE & ®¥ O £ B K K
X 4 & WEKEB | B EIME |msemascon)| i/ B A E- - &
Bt | &= /n | BAE (&S In| BiE (S | BAfE (S in| BHE (&S tn| BAdE (S 0| BEE (B Mo
BE#H |EAS | BH |EAE| B [EAS| B#H |(EAS| O AR BH |EAE| E% |EAS
ERELH 301 7,943 26/ 351 - - - - 67| 2,837 - -| 208 4,755
Z2aR™ 132 4,170 - - - - - - 67| 2837 - - 65| 1,333
IR B ™ 63 874 22| 334 - - - - - - - - 41| 540
T ik 106| 2,899 4 17 - - - - - - - -|  102| 2,882
10 SREEEERR(T6—10)
CERR2T4EE)
R | mee B-EYE
EirE = | I ) . SBANAE
X & BEE|YF | = |ORRSERE| REHRE ZDith
BE  |wax| op |FEE| B (Ei8) @m | OF
- N | 384 - - - - - - - -
ERBHK AR e — - - - — — — —
i =AB 22 - - - - - - - -
ZARRT EAR 22 — — — — — — - -
w s EAE 357 - - - - - - - -
B EAR 23] — — — — — — - -
=AB 5 - - - - - - - -
+ W EAS 5 - - - - - - - -




